LS-SP R

RKIREe2 1L
HAHE

27

WHIP M EF RT3

iR ~
Mediénca%on(sieels [ TYPE : 1 ] ;}E[giﬁ
- s
(m/min) ) Ds K — %
X E AR RS 2 P24 _7 1 . - - 7
K K =
I/ 4s A
L 74
BEsg
[ TYPE : 2 ] [ TYPE: 3 :
fi
Ds K Ds K ;ZE
| 44
s - - 4
bk K Y,
k K
Y/ . s Y/ Is %
L £
2
L _ L _ %
PIAKERE
mKX:1C poa—
L | ¢ e | e | ps | K | & e
= = Nab d
R B ERES BAH L om o e o om | oy | AR WE EE %E
NHIZRLA ﬁ?ﬁ(
M2x0.4 P1 SPP2.0ELO7 2.5P 70 7.2 12 55 3 25 5 2 1 A %ﬁ
M2.3x0.4 P1 SPP2.3ELO7 2.5P 70 7.2 12 55 3 25 5 2 1 A
M2.5x0.45 P1 SPP2.5FL07 2.5P 70 8.1 14 53 3 25 5 2 1 A =
M2.6 x0.45 P1 SPP2.6FLO7 2.5P 70 8.1 14 53 3 25 5 2 1 A )ZE
SPP3.0GLO7 70 50 A By
o SPP3.0GL10 100 @)
SPP3.06L12 120 A 2
M3x0.5 SPP3.06GL15 25p 150 0 » s 29 6 3 . © 4
X9 e OoF £ 0 5 1
0y SPQ3.06L10 100 40 1
SPQ3.0GL15 150 A
o3 SPR3.0GL10 100
SPR3.06L15 150 =
SPQ4.0IL07 70 47 %&;
02 SPQ4.0IL10 100 A
MAx0.7 SPQ4.0IL12 25p 120 » . 5 . , 5 ;
xu.f o o 11 19 |\ 4 (7 9 1 o
SPQ4.0IL15 150 40 © -
SPR4.0IL10 100 1Ch
P3 &
SPR4.0IL15 150
SPQ5.0KL10 100
P2 SPQ5.0KL12 120 © 2,
M5x0.8 SPQ5.0KL15 25P | 150 | 13 22 40 55 | 45 7 3 1 %
SPR5.0KL10 100 =
P8 A =
SPR5.0KL15 150
JIS

Think threads with
O=fEm O=ffEm A=RERBEM (FLETR) YAMAWA
XAKAR BALEASERT=mEl 2B -



IBEZ2 I 25 §LH )

LS-SP KRR}

, oy L e e D K | ek |
R~ 3754 FmiRsS IF N m) | (mm) (mrr:.) (mi) (m,?,) mm) | (mm) BE | WE | ER
SPQ6.0ML10 100 ©
o SPQ6.0ML12 120 A
M6x1 SPOG.OMLIS 2.5P 150 15 26 40 6 45 7 3 1 ©
X . .
. SPQ6.0ML20 200
Bjels SPR6.OML10 100
= by i P3
R SPR6.OML15 150
- M6x0.75 P2 SPQ6.0JL10 25P | 100 15 | 26 | 40 6 | 45 7 3 1
SPQ8.ONL10 100
&IT SPQS.ONL12 120
S P2 ©
Fd 4 M8x1.25 SPAB.ONLIS 2.5P 150 19 50 6.2 5 8 3 2
X1. . = .
K SPQ8.ONL20 200
SPR8.ONL10 100
P3 A
- SPR8.ONL15 150
4] SPQ8.OML10 100
4 M8x1 P2 2.5P 19 ; 50 62 5 8 3 2 | A
I SPQ8.OML15 150
SPQO100L10 100
SPQO100L12 120
1B P2 ©
= M10x15 sPaotoolts | 180 o | 7 |ss | @ , ,
X1. . = .
% SPQ0100L20 200
SPRO100L10 100
P3 A
SPRO100L15 150
%é SPQO10NL10 100
2 M10x1.25 P2 SPAOIONLIZ 1, 5 120 oy 56 7 55 8 3 2 O
o x1. . ] _
Y SPQO10NL15 150
— SPQO1ONL20 200
18] 45
=5 SPQO10ML10 100
A M10x1 P2 2.5P 23 - 56 7 55 8 3 2 A
. SPQO10ML15 150
T4 SPQO12PL10 100 A
X o SPQO12PL12 120 o
. M12x1.75 SPQO12PLI5 | 25P | 150 | 26 - 50 85 65 9 3 2 | A
=
= SPQO12PL20 200 ©
% P3 SPRO12PL15 150 A
SPQO120L10 100
M12x1.5 P2 SPQO120L15 | 25P | 150 | 26 - 5 85 65 9 3 2 | A
z;!; SPQ0120L20 200
2 SPQO12NL10 100 A
B M12x1.25 P2 SPAOIANLIZ 1 10 50 85 65 9 3 2 ©
X1. . - . .
SPQO12NL15 150 A
_ SPQO12NL20 200 O
& M12x1 P2 SPAOI2ZNLIZ ) (5 | 120 g 50 85 65 9 3 2 | A
X . - . .
F SPQO12ML15 150
SPQO140L12 120 A
M14x2 P2 SPQO14QL15 | 25P | 150 | 26 - 60 105 8 1 3 2 5
/ES SPQ0140L20 200
&k M14x1.5 P2 SPQO140L12 | 25P | 120 | 26 - 60 105 8 1 3 2 A
M14x1.5 P2 SPAOMOLS ) (5 180 g 60 105 8 1 3 , O
X1. . - .
SPQ0140L20 200 O
% SPQO160L15 150 ©
T M16x2 P2 SPQOT6QL20 | 25P | 200 | 26 - 60 125 10 13 3 2 | A
= SPQ016QL25 250 ©

E Think threads with
2 DX YAMAWA

O=fEm O=AnEm

A=FERBR (FPLEr M)
XAKYR AEMSERBFREL 2B -



TZ A8+ 522 ] :
2K ﬂﬁ(%ﬂﬁ@lzﬁ LV ES FRK LES & AR WZERS

L ot { In {s Ds K £k

LS-SP KRR}

R+ gR  mmms  eAm Lo & Wt Ds o K&K omm wE EE
M16x1.5 P2 SPAD6OL1S 2.5P 190 26 - 60 | 125 10 13 3 2
SPQ0160L20 200
SPRO18RL15 150
M18x2.5 P3 SPRO18RL20 25P | 200 | 33 - 70 14 1 14 4 2
SPRO18RL25 250 A
SPQ0180L15 150
M18x1.5 P2 SPQO180L20 2.5P 200 33 - 70 14 1 14 4 2 @)
SPRO20RL15 150 ©
M20x2.5 P3 SPR020RL20 25P | 200 | 33 - 70 15 12 15 4 3 A gﬁ e
SPRO20RL25 250 © gy
Fg
M20x1.5 P3 SPRO200LTS 2.5P 190 33 - 70 15 12 15 4 3 @) -
SPR0200L20 200
SPRO22RL15 150 =l
M22x2.5 P3 SPRO22RL20 2.5P 200 33 - 70 17 13 16 4 3 A //2
M22x1.5 P3 SPRO220L15 2.5P 190 33 - 70 17 13 16 4 3 O .
SPR0220L20 200
SPR024SL15 150 @) 2
M24x3 P3 SPR024SL20 25P | 200 | 39 - 80 19 15 18 4 3 A g
SPR024SL25 250 © %
M24x2 P3 SPR024QL20 25P | 200 | 39 - 80 19 15 18 4 3 A
SPR0240L15 150
M24x1.5 P3 SPRO240L20 2.5P 200 39 - 80 19 15 18 4 3 @) E‘
M27 x3 P3 SPROZTSL20 2.5P 200 39 - 80 20 15 18 4 3 A %
SPR027SL25 250
M27 x2 P3 SPR0270L20 25P | 200 | 39 - 80 20 15 18 4 3 po—
SPR0270L20 200 ‘;}§;
M27x1.5 P3 SPROZTOL25 2.5P 250 39 - 80 20 15 18 4 3 A 2
EPAY
SPS030TL20 200 T4
M30x3.5 P4 SPS030TL25 25P | 250 | 46 - 80 23 17 20 4 3 A BI
SPS030TL30 300 .
SPR0300L20 200 %
M30x1.5 P3 2.5P 46 - 80 23 17 20 4 3 A 44
SPR0300L25 250 %
EHIZL A
R gR | mmms | eAm | Lo| ol Il D K| & | e | wE | R .
1/4-20UNC P2 SPAUOANLTO 2.5P 10 15 26 40 6 45 7 3 1 A é
SPQUO4NL15 150 7]
1/4-28UNF P2 SPaUDAKLTO 2.5P 10 15 26 40 6 45 7 3 1 A
SPQUO4KL15 150
5/16-18UNC P2 SPAUOSOLTO 2.5P 10 19 - 50 | 6.2 5 8 3 2 A
SPQUO50L15 150 I
5/16-24UNF P2 SPAUOSMIL1O 2.5P 10 19 - 50 | 6.2 5 8 3 2 A
SPQUO5ML15 150
SPQUOGPL10 100 op
3/8-16UNC P2 SPQUOGPL15 25P | 150 | 23 - 50 7 5.5 8 3 2 A i
SPQUOGPL20 200 &
SPQUOGML10 100
3/8-24UNF P2 SPQUOBNILIS 2.5P 150 23 - 50 7 5.5 8 3 2 A .
7/16-14UNC P3 SPRU07QL15 25P | 150 | 26 - 50 85 | 65 9 3 2 A [E]
7/16-20UNF P2 SPQUO7NL15 25P | 150 | 26 - 50 85 | 65 9 3 2 A %
JIS

Think threads with

O=FER O=#FBR A-RBEFHER (ELETR) YAMAWA
XARME BEREEHT R 2T - 53

X



IBEZ2 I 25 §LH )

ks

92
B
T4

B

\

5 NS FH IR

NI

D

\
/

JIS
— g

LS-SP KRR}

R+ gR  mmms  eAm Lo & Wt Ds o K&K omm wE EE

1/2-13UNC P3 SPRUGBRUIS 1 gp 10 56 - 60 105 8 11 3 2 A
SPRUO8SRL20 200

1/2-20UNF P2 SPQUOBNL15 | 25P | 150 | 26 - 60 105 8 11 3 2 A

5/8-11UNC P3 SPRUIOULTS 2.5P 150 26 - 60 125 10 13 3 2 A
SPRU10UL20 200

5/8-18UNF P2 SPQU100L15 2.5P 150 = 26 - 60 | 125 10 13 3 2 A
SPRU12VL15 150

3/4-10UNC P3 SPRUTAVLZD 2.5P 200 33 - 70 15 12 15 4 3 AN

3/4-16UNF P3 SPRU12PL15 2.5P 150 33 - 70 15 12 15 4 3 A

7/8-9UNC P3 SPRUTWLIS 2.5P 190 33 - 70 17 13 16 4 3 A
SPRU14WL20 200
SPRU16XL15 150

1 -8UNC P3 SPRUTEXL20 2.5P 200 39 - 80 19 15 18 4 3 A

BHB LA

R+ gR | mams | eAm | Lo| &l sl Dl K| (& | e | wE | e

1/4W20 P2 SPOWOANLTO 2.5P 10 15 26 40 6 45 7 3 1 A
SPQWO04NL15 150

5/16W18 P2 SPAWO50L10 2.5P 10 19 - 50 6.2 5 8 3 2 AN
SPQWO050L15 150
SPQWOGPL10 100

3/8W16 P2 SPQWO06PL15 2.5P 150 23 - 50 7 5.5 8 3 2 A
SPQWO06PL20 200

7/16W14 P3 SPRWO7QL15 2.5P 150 26 - 50 8.5 6.5 9 3 2 AN

1/2W12 P3 SPRU0BSLS 2.5P 190 26 - 60 10.5 8 11 3 2
SPRW08SL20 200

5/8W11 P3 SPRWVIOULTS 2.5P 190 26 - 60 | 125 | 10 13 3 2 A
SPRW10UL20 200
SPRW12VL15 150

3/4W10 P3 SPRUAZYLZ0 2.5P 200 33 - 70 15 12 15 4 3 A
SPRW14WL15 150

7/8W9 P3 SPRW14WL20 2.5P 200 33 - 70 17 13 16 4 3 AN
SPRW16XL15 150

1Ws8 P3 39 - 80 19 15 18 4 3 A
SPRW16XL20 200

Think threads with

YAMAWA

O=fEm O=AnEm

A=FERBR (FPLEr M)
XAKYR AEMSERBFREL 2B -



